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Quiz Date: 19th September 2020

Directions (1-5): In the following questions, two equations in x and y are given. Solve these
equations and give answer

Lx*+7x+12=0

oL 1. 4y % = 36

(a)ifx>y
(b)ifx<y
(q)ifx=y
(d)ifx<y
(e) x =y or relation cannot be established between x and y

.2x%+5x+3=0
Qzlll.y2+3x+2=0
(a)ifx>y
(b)ifx<y
(c)ifx=y
(d)ifx<y
(e) x =y or relation cannot be established between x and y

.2x+3y=5

Q3. II.3x+ 2y =10

(a)ifx>y
(b)ifx<y
(q)ifx=y
(d)ifx<y
(e) x =y or relation cannot be established between x and y

Lx*+19x+84=0
Q4. ILy?+ 14y +49=0
(a)ifx>y
(b)ifx<y
(q)ifxzy
(d)ifx<y
(e) x =y or relation cannot be established between x and y

L3x*+4x+1=0
Q5. 11.2y° +3y +1=0
(a)ifx>y
(b)ifx<y
(g)ifx=zy
(d)ifx<y
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(e) x =y or relation cannot be established between x and y

Directions (6 - 15) : In each of these questions two equations numbered I & II are given.
You have to solve both the equations and give answer.

(a)Ifx<y

(b)Ifx>y

(c) If relationship between a and b cannot be established

(d)Ifx>y

(e)lfx<y

Q6.1.x2 + 3x = 28
ILy2+16y+63=0

Q7.1.x = V2744
IL y? = 441

Q8.1.8x%> —49x +45 =0
L.6y?—y—7=0
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Q9.1.42x — 17y = —67
1L 7x + 12y = —26

Q10.1.x2-8x+15=0
II. 2y2- 21y +55=0

Q11.1.x24+9x—22=0
I.2y*-7y+6=0

Q12.1.2y*-13y-34=0
IL3x%-11x-20=0

Q13.1 x* = 256
IL.y?*-16y+64=0

Q14. L(x—4)?%?=09
1.2y +3)2 = 25
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Q15.1.2x+3y =4
[I.4x+5y=6

Solutions

S1. Ans.(d)

Sol.
Lx*+7x+12=0
=x=-3,-4
ILy*=9
=y=x3
yzx

S2. Ans.(e)
Sol.

.2x* +5x+3=0

= 2x°+2x+3x+3=0

=(x+1)(2x+3)=0
3

=>x=-1,—3

ILy*+3y+2=0
=(v+1)(y+2)=0
=y=-1,-2

No relation

S3. Ans.(a)

Sol.

(2x+3y=05)2
(3x+2y=10) 3

On subtracting, we get
-5x=-20

=x=4

5-8
LY = —

=-1
X'.}}F

S4. Ans.(d)
Sol.
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Lx*+19x+84=0
=(x+7)(x+12)=0
=2x=-7,-12
ILy*+ 14y +49=0
=(y+ ?]z=ﬂ
=>y=-7

yzx

S5. Ans.(e)

Sol.

L3x+4x+1=0
=32+ 3x+x+1=0
= (x+1)(3x+1)=0

1
=}K:—11—E

Il 2y?+3y+1=0

=2yl +2y+y+1=0

=(y+1)(2y+1)=0
1

=y=-1, 5

Mo relation
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S6. Ans. (d)

Sol.

. x?4+3x—-28=0
x>+ 7x—4x—28=0
x(x+7)—4(x+7)=0
x+7Dx-4)=0
x=-7,4

I y?+ 16y +63=0
y2+7y+9y+63=0
yoy+7)+9(y+7)=0
+7NDy+9=0
y=-7,-9
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So,x >y

S7. Ans. (c)
Sol.

L x = 3/2744
x =14

1. y2 = 441
y=x21
So, no relation

S8. Ans. (¢)
Sol.
I. 8x2 —49x +45 =0
8x%2 —40x —9x+45=0
8x(x—5)—9(x—-5)=0
(x—=5)(@8x—-9)=0

9
X = 5,5

II. 6y2—y—7=0
6y’6y —7y—7=0
6y(y+1)—-7(y+1) =0
6y—7)(y+1) =0

7
y :g,—l
So, no relation

S9. Ans. (a)

Sol.

Multiply II by 6 and equate with I
42x — 17y + 67 = 42x + 72y + 156
89y = —89

y=-1

And x = -2

So,y > x.

S10. Ans. (e)

Sol.

. x2—8x+15=0

x> —5x—3x+15=0
x(x—=5)—-3(x—-5)=0
(x=5x-3)=0

x =35

II. 2y2 —21y 4+55=0
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2y? =10y — 11y +55=0
2y(y—=5)—-11(y —5) =0

S11. Ans.(c)

Sol.
Lx2+9x—22=0
>x*+11x-2x-22=0
=>x+11)(x-2)=0
=>x=-11,2
IL.2y*-7y+6=0
=2y*-4y-3y+6=0
= 2y(y-2)-3(y-2) =0
= (y-2) (2y-3) =0
S>y= 2,;

No relation

S12. Ans.(c)
Sol.
.2y*-13y-34=0
=2y?-17y +4y-34=0
= y(2y-17) + 2(2y-17) =0
= (2y-17) (y+2) =0
17

=2y= P 2
I.3x*-11x-20=0
=3x*-15x+4x-20=0
= 3x (x-5) + 4(x-5) =0
= (x-5)(3x+4)=0

-4
=>X= 5, ?
No relation

S13. Ans.(a)

Sol.

I.x* =256
>x=%4
ILy*-16y+64=0
=>(y-8)2=0
=>y=8

y>X

S14. Ans.(d)

Sol.
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L(x—4)?%?=9
>x—4= 43
>x=71

II. 2y +3)? =25
>2y+3=4%5
>y=1-4
>X=2y

S15. Ans.(a)

Sol.

[.2x+3y=4
[.4x+5y=6

Solving eq. (I) and (II),
(2x+3y=4)x2

4x+5y=6

y=2

Puty =2 in eq. (I),
2x+6=4
=>x=-1

y>X
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